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O(n=0) FPL model L=30 O(n=0) FPL model L=30
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Finite size scaling: O(n=0) Loop model (FPL)

0.4 : ‘
# of states m=32, hard wall b.c.
L=even
0.38 |
. Lanczos, L=even
> M
& 036 -
‘E s
) R
L 034+ i —
w e
0.32
0.3 Il Il Il
0 0.005 0.01 0.015

/L2 L: width

g3 ggbooogoood

00,DMRGOOO0O0O0OOOOOOOOO0O0000,00 (2)00 manifest 00, O
0 (1)0000o0ooo.

00000,0000000 DMRGOOOOOOOO0OO0OO0O000000.000000,0
000000000 DMRGOOOOOOO,00000000000000.

goon

[1] S. R. White, Phys. Rev. Lett. 69 (1992) 2863.

2] S. R. White, Phys. Rev. B48 (1993) 10345.

[3] K. Wilson, Rev. Modern Phys. 47 (1975) 773.

[4] B. Nienhuis, Phys. Rev. Lett. 49 (1982) 1062.

[5] T. Nishino, J. Phys. Soc. Japan 64 (1995) 3598, cond-mat/9508111.

6] R. J. Bursill, T. Xiang, and G. A. Gehring, J. Phys. C'8 (1996) L1, cond-mat/9609001.
[7] Y. Honda and T. Horiguchi, Phys. Rev. E56 (1997) 3920, cond-mat/9706124, APS server.



